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' 72 b e
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; - 190 m
' “ Bcangive C 20 m.
e = Let the cost of 1 litre milk be Re. 1
| Milk in 1 litre mix. in - 3 litre, C.P. of 1 litre mix. in 3
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So, quantity of mixture taken from [1 X ] =6

1 can = 4 - 1* can Re.
Milk in 1 litre mix. in 1 litre, C.P. of I litre mix. in
2" can = 2 2" can Re.

XRIN O~

5
Milk in 1-litre of final mix. =§ litre, Mean price = Re.

By the rule of alligation, we have:

C.P. of | litre mixture in 1* can. C.P. of | litre mixture
in 2™ can 578

3 : 1
4 Mean Price 5
2
1 8 L
8 8
. : : b1
-+ Ratio of two mixtures = g 3 =1 L

each can = 212 litres.
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Total number of balls = (2 + 3 + 2) =7.

Let S be the sample space.

= Number of ways of drawing 2 balls out of
7

Then, #(S)
= 7CZ 5

. (7x6)

2xD

=21

Let E = Event of drawing 2 balls, none of which is blue.

n(E) = Number of ways of drawing 2 balls out of (2
+ 3) balls. :

= 5c2

_(5x4)
@2x1)

=10. .

_n®) _ 10

B n(8) 21
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This is a simple alternating addition and subtraction

., |®@
' series. In the first pattern, 3 is added; in the second,
2 is subtracted.
3. ) The first three choices are all synonyms.
3%. @) ;
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(&) Bacillus (@) Parasite (M) Protozoa (%) Bacteria -
Doctor is related to Patient in the same way as Lawyer is related to ?
(&%) Customer (@) Accused (1) Magistrate (=) Client

At a conference, 12 members shook hands with each other before & after the meeting.
How many total number of hand shakes occurred ?

(@) 100 Ot @ 132 (N 145 (%1) 144 & 121 -

The day after the day after tomorrow is four days before Monday. What day is it today ?

(%) Monday (@) Tuesday () Wednesday (a1 Thursday (&) Friday
A fisherman has 5 fishes (namely A, B, C, D, E) each having a different weight .

(i) A weighs twice as much as B. (i) B weighs four and a half times as much as C.

(iii) C weighs half as much as D. _(iv) D weighs half as much as E.
(v) E weighs less than A but more than C. .

Which of the following is the lightest 2
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EES g The first person shook hands with 11 remaining people,

' the second person also shook hands with 11 people,.but
we count 10, as the hand shake with the first person has
already been counted. Then add 9 for the third person, 8
for the fourth one & proceeding in this fashion we get:
I1+10+9+8+7+6+5+4+3+2+1=66.
Hence 66 hand shakes took place before & 66 after the
meeting, for a total of 132.

3%, & Four days before Monday is Thursday, sunply because
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